
��� �����

���	
�� �
��
 ������� ���
����� ��� � �!��" #� $%��
&'()'* +, -.�
&'()'* /, 0�%�1%2 3454$6��4� �%57 %���1%%� 85499%:%;41%< 9=<>�?� @A>$AB�7�
2���$�C��%<D #%95A 9��2���? 9=A6A�7D A6A6C���7� ;AA��%�4�7�
EFGFHF IJKLMNLNM OP

A

B

C

D

E

ϕ

1
2

� ~F

�
	�M

����B��Q AC R4��%��A 9A��%��� 9A 9���B��$ BE D 4
R4��%� C 9���B��$ DC 9A��%��� 9 $�:�A?D 9;A5QS
><C�? 2A BE � 0A5>�� A 9;A5Q>%� 2A �54�;A? 2A=��TS
�A9�%� 8 9���B�U AC 2�%5AB�� $A$��� M D ; R4�S
�%�� C V �A�%>A��45Q�4< 9%54 F W AB = BE = aD
BC = CD = b� -4994 9���B�< DC �4=�4 m1

D 9���BS
�< BE V m2

� �A9�4=%�Q ��4=���%� �=%B��%< 9%9��S
$7� X4 A6A6C����U ;AA��%�4�� 2�%�<�Q ��A5 2A=A�AS
�4 9���B�< BE ϕ �



��� �����

���	
�� �
��
 ������� ���
����� ��Y � �!��" #� $%��
&'()'* +, �:��%#�9;A? �=%B��%��
&'()'* /, 3%�4$%#�9;%� ��4;1%%� X4�4#4 6454�9%�A=;% 9 2A$ACQU �=�T $499�
EFGFHF IJKLMNLZM OP

2

1

ϕ

�


-

�


-

M2
M1A

C

B

6~F

[�=�9A$7? ��A5Q�%; ABC D ;494��9< = �A#;� B �54�S
;A? 2A=��T�A9�% 2A�R�<D 9;A5Q><C��A = =���%;45QS
�7T �42�4=5<UC%T� AB ⊥ BC D AB = aD BC = b�3%9;% �4�%�94$% r $499A? m1

% m2 R4��%��A >4;��2S
5��7 = �A#;4T A % C � \�%� �%9; ;4�%�9< 2A �A�%>A�S
�45Q�A? 2A=��T�A9�%D ����A? V 2A =���%;45Q�A?� 8
�%9;4$ 2�%5AB��7 $A$���7 M1

% M2

D ; 2A�R�U V=���%;45Q�4< 9%54 F � �A9�4=%�Q ��4=���%� �=%B��%<
9%9��$7� X4 A6A6C����U ;AA��%�4�� 2�%�<�Q ��A5 2AS
=A�A�4 ��A5Q�%;4 ϕ �



��� �����

���	
�� �
��
 ������� ���
����� ��] � �!��" #� $%��
&'()'* +, 3%4��4$$4 -4;9=�554 S 8��$A�7� 0�%$��
&'()'* /, @7=A� ��4=���%< ^4��4�B4 YS�A �A�4�
EFGFHF IJKLMNLKM OP

ϕ

�6M

1

2 -~F

8 $�:�� $499A? m1

D �=%B�C�?9< 2A =���%;45Q�A?
9�A?;�D >4;��25���A? �4 ��5�B;�D B�9�;A 2�%;��25�S
�4 �A�%>A��45Q�4< �<�4D R4��%��A 9A��%����4< 9 A6AS
�A$ �%9;4� -4994 �%9;4m2

D �4�%�9 R � -A$��� M 2�%S
5AB�� ; �%9;�D 9%54 F V ; ��5�B;�� �A9�4=%�Q ��4=S
���%� �=%B��%< 9%9��$7� X4 A6A6C����U ;AA��%�4��
2�%�<�Q ϕ �



��� �����

���	
�� �
��
 ������� ���
����� �� � �!��" #� $%��
&'()'* +, 8%��$4�%#�9;%� ��4=���%< _?5��4�
&'()'* /, @7=A� ��4=���%< ^4��4�B4 YS�A �A�4�
EFGFHF IJKLMNL`M OP

ϕ

��

M

1

A

B

C 2

�~F

[�=�9A$7? %>A����7? 2A� 2�<$7$ ��5A$ 9���B��Q
9A��%�<�� 1%5%��� $499A? m1

% 2A�R��Q $499A? m2

D
�=%B�C%?9< = =���%;45Q�7T �42�4=5<UC%T�AB = aD
BC = b� -A$��� M 2�%5AB�� ; 9���B�UD �A�%>A�S
�45Q�4< 9%54 F V ; ��5� B � �A9�4=%�Q ��4=���%� �=%S
B��%< 9%9��$7� X4 A6A6C����U ;AA��%�4�� 2�%�<�Q
ϕ �



��� �����

���	
�� �
��
 ������� ���
����� ��a � �!��" #� $%��
&'()'* +, ����A 257=�� �4 9�=�� = UB�A$ 2A5�R4�%%� b�$� �4=�A % ;��4 �42�4=5��A
�9;A���%� 8A�%A5%94c
&'()'* /, -�T4�%#�9;4< d$4���%45Q�4<e 9%9��$4� �%57 =�������%� % =��R�%�� .����
$499� -A$���7 %���1%%�
EFGFHF IJKLMNLfM OP

ϕ


	6M

- ~F

1

C

A

B

2

g����A5Q�4< 2549�%�4 R4��%��A 2�%;��25��4 ; $�:S
��D 9;A5Q><C�? 2A =���%;45Q�A? �42�4=5<UC�?D %
�%9;� �4�%�9A$ R � -4994 2A5>��4 m1

D �%9;4 V m2

�
AB = aD BC = bD AB ⊥ BC � �A9�4=%�Q ��4=���%�
�=%B��%< 9%9��$7� X4 A6A6C����U ;AA��%�4�� 2�%S
�<�Q ϕ �



��� �����

���	
�� �
��
 ������� ���
����� ��! � �!��" #� $%��
&'()'* +, 84; $��<��9< �54=�7? $A$��� 2�% 2���$��� 1����4 2�%=����%<c
&'()'* /, g�A��$4 A6 %>$����%% $A$���4 ;A5%#�9�=4 �=%B��%< �A#;%�
EFGFHF IJKLMNLhM OP

ϕ A
B

C

2

1

	6M

� ~F

3=4 9���B�< A�%�4;A=A? �5%�7 a R4��%��A 2�%;��2S
5��7 ; =���%;45Q�A$� R�A;�� ����B��Q BC 9A��%S
��� 9 254�:A�$A?D �9�4�A=5���A? �4 �54�;A$ �A�%S
>A��45Q�A$ A9�A=4�%%� 3%9; �4�%�9A$ r ;4�%�9< 2A
254�:A�$� 6�> 2�A9;45Q>7=4�%<� -4994 �%9;4 �4=�4
m1

D i���B�<AC Vm2

� 8 �%9;� 2�%5AB�� $A$���M D ;
254�:A�$� V �A�%>A��45Q�4< 9%54 F � �A9�4=%�Q ��4=S
���%� �=%B��%< 9%9��$7� X4 A6A6C����U ;AA��%�4��
2�%�<�Q ��A5 2A=A�A�4 i���B�< BC ϕ �



��� �����

���	
�� �
��
 ������� ���
����� ��j � �!��" #� $%��
&'()'* +, kA�$�54 _?5��4 �5< 9;A�A9�% �A#;% 2�% 25A9;A$ �=%B��%%
&'()'* /, -�T4�%#�9;4< d$4���%45Q�4<e 9%9��$4� �%57 =�������%� % =��R�%�� .����
$499� -A$���7 %���1%%�
EFGFHF IJKLMNLlM OP

ϕO

A

1

2

-~F

	6
M

�
	�M

[4 R4��%�� A ;�%=AR%24 OA �5%�A? aD >4;��25���AS�A �4 �A�%>A��45Q�A 9;A5Q><C�$ 6��9;�D ;494<9Q =��S
�%;45Q�A? 2A=��T�A9�%D =�4C4��9< 1%5%��� �4�%�9A$
R � -�B�� 6��9;A$ $499A? m1

% �A�%>A��45Q�A? 2AS
=��T�A9�QU ;4�%�9< 1%5%��� �4�%�9A$ r � 8 1%5%�S
��4$ 2�%5AB��7 �4=�7� $A$���7 M D ; 6��9;� V �AS
�%>A��45Q�4< 9%54 F � -4994 1%5%���4 A �4=�4 m2

�
�A9�4=%�Q ��4=���%� �=%B��%< 9%9��$7� X4 A6A6C��S
��U ;AA��%�4�� 2�%�<�Q ��A5 2A=A�A�4 ;�%=AR%24 ϕ �



��� �����

���	
�� �
��
 ������� ���
����� ��" � �!��" #� $%��
&'()'* +, 84; $��<��9< �54=�7? $A$��� 2�% 2���$��� 1����4 2�%=����%<c
&'()'* /, m�4=���%< n4�994� .%;5%#�9;%� ;AA��%�4�7� k��;1%< n4�994�
EFGFHF IJKLMNLoM OP

ϕ

AB

C

O

2

1 �-
M2 ��

M1

?

~F

b��7�� 9���B�< A6�4>�U� �A$6 9A 9�A�A�A? a� 3=4
9���B�< R4��%��A 2�%;��25��7 ; =���%;45Q�A$�
R�A;�D �=4V ; ��2A�=%B�A$� R4��%��� [4 A9<T A %B=�4C4U�9< �%9;% �4�%�94$% r D �4 �%9;4T 5�B%� 6��9�
84#��%� �%9;A= 2A 6��9� 2�A%9TA�%� 6�> 2�A9;45Q>7S
=4�%<� 3%9; �4 A9% A B�9�;A 9;��25�� 9A 9���B��$
AC � -4994 6��94 �4=�4m1

D i���B�< OB V m2

� 8 �%9S
;� 2�%5AB�� $A$��� M1

D ; 9���B�U BO V M2

D ; 6��S
9� V =���%;45Q�4< 9%54 F � �A9�4=%�Q ��4=���%� �=%S
B��%< 9%9��$7� X4 A6A6C����U ;AA��%�4�� 2�%�<�Q
��A5 2A=A�A�4 i���B�< OA ϕ �



��� �����

���	
�� �
��
 ������� ���
����� ��p � �!��" #� $%��
&'()'* +, 3%�4$4
&'()'* /, k��;1%< ^4��4�B4� m�4=���%� ^4��4�B4 YS�A �A�4 �5< 2A���1%45Q�7T
2A5�?�
EFGFHF IJKLMNLqM OP

�


-
M

-~F

-x 2

1

r��9A; $499A? m1

�A�%>A��45Q�A 5�B%� �4 �=�T 1%S
5%���4T �4�%�9A= R % r � 8 A��A$� 1%5%���� $499A?
m2

2�%5AB�� $A$��� M D ; 6��9;� V 9%54 F � 0�AS
9;45Q>7=4�%� =A =9�T �A#;4T ;A��4;�4 A�9��9�=����
�A9�4=%�Q ��4=���%� �=%B��%< 9%9��$7� X4 A6A6C��S
��U ;AA��%�4�� 2�%�<�Q x�



��� �����

���	
�� �
��
 ������� ���
����� ��� � �!��" #� $%��
&'()'* +, s�=4�%4��7 9%9��$7 9%5
&'()'* /, m�4=���%< n4�994� .%;5%#�9;%� ;AA��%�4�7� k��;1%< n4�994�
EFGFHF IJKLMNNLM OP

ϕ�


-

M

1
�~F

2

.%5%��� �4�%�9A$ R D $499A? m1

;4�%�9< 2A �A�%>A�S
�45Q�A? 2A=��T�A9�% % �4TA�%�9< = >41�25��%% 9 �A�S
;A? 2549�%�A? $4997 m2

� 3���A? ��4�QU 2549�%�4
9;A5Q>%� 6�> 9A2�A�%=5��%< 2A =���%;45Q�A? ��4�%
6��9;4� �A9�4=%�Q ��4=���%� �=%B��%< 9%9��$7� X4
A6A6C����U ;AA��%�4�� 2�%�<�Q ϕ �



��� �����

���	
�� �
��
 ������� ���
����� ��� � �!��" #� $%��
&'()'* +, 054� 9;A�A9��?
&'()'* /, 0�%�1%2 3454$6��4� �%57 %���1%%� 85499%:%;41%< 9=<>�?� @A>$AB�7�
2���$�C��%<D #%95A 9��2���? 9=A6A�7D A6A6C���7� ;AA��%�4�7�
EFGFHF IJKLMNNNM OP

ϕ

A

B

2
1

�~F

�-
M

[4 A��A$ ;A�1� 9���B�< AB �5%�A? a R4��%��A >4S
;��25�� 2A5>�� B D 9;A5Q><C%? 2A �A�%>A��45Q�A? 2AS
=��T�A9�%D �4 ����A$ V 1%5%��� �4�%�9A$ R D $499A?
m1

� .%5%��� ;4�%�9< 2A =���%;45Q�A? 9���;�� @���%S
;45Q�4< �%�Q A�%64�� 1%5%��� % �%9; �4�%�9A$ r D >4S;��25���7? �4 A9�A=4�%%� -4994 i���B�< AB �4=�4
m2

� 8 �%9;� 2�%5AB�� $A$��� M D ; 2A5>��� V �AS
�%>A��45Q�4< 9%54 F � �A9�4=%�Q ��4=���%� �=%B��%<
9%9��$7� X4 A6A6C����U ;AA��%�4�� 2�%�<�Q ��A5 2AS
=A�A�4 9���B�< ϕ �



��� �����

���	
�� �
��
 ������� ���
����� ��Y � �!��" #� $%��
&'()'* +, m�4=���%< ���T ��5A=7T 9;A�A9��?�
&'()'* /, g��>A� %���1%%
EFGFHF IJKLMNNZM OP

b1

ϕ
�-

M 2

[�=�9A$4< ;=4��4��4< 2549�%�4 9A 9�A�A�A? a A2%S
�4��9< 6�> 2�A9;45Q>7=4�%< �4 �54�;%? ��A5 % �%9;
�4�%�9A$ R 9 ��2A�=%B�A? A9QU� [4 2549�%�� �4TAS
�%�9< �A#;4 $499A? m1

� -4994 �%9;4 V m2

� 8 254S
9�%�� 2�%5AB�� $A$��� M � @9� ��54 �492A5AB��7 =
�A�%>A��45Q�A? 25A9;A9�%� �A9�4=%�Q ��4=���%� �=%S
B��%< 9%9��$7� X4 A6A6C����U ;AA��%�4�� 2�%�<�Q
��A5 2A=A�A�4 2549�%�7 ϕ �



��� �����

���	
�� �
��
 ������� ���
����� ��] � �!��" #� $%��
&'()'* +, kA�$�54 _?5��4 �5< 9;A�A9�% �A#;% 2�% 25A9;A$ �=%B��%%
&'()'* /, 3%�4$%#�9;%� ��4;1%%� X4�4#4 6454�9%�A=;% 9 2A$ACQU �=�T $499�
EFGFHF IJKLMNNKM OP

ϕ

α

C

A

B

1
2

- ~F

�-M

����B��Q BC �5%�7 a R4��%��A 9A��%�<�� �A�%>A�S
�45Q�A 9;A5Q><C�U 2�%>$� % =���%;45Q�7? R�A; C �
����B��Q AC = a 9A��%��� 9 A9QU �%9;4 A �4�%�S
9A$ r D ;A�A�7? ;4�%�9< 2A �4;5A��A? ��4�% 2�%>$7�
-4994 2�%>$7 �4=�4 m1

D i���B�< AC V m2

� 8 �%9;�
2�%5AB�� $A$���M D ; 2�%>$� V �A�%>A��45Q�4< 9%54
F � �A9�4=%�Q ��4=���%� �=%B��%< 9%9��$7� X4 A6A6S
C����U ;AA��%�4�� 2�%�<�Q ��A5 2A=A�A�4 9���B�<
AC ϕ �



��� �����

���	
�� �
��
 ������� ���
����� �� � �!��" #� $%��
&'()'* +, 84; $��<��9< �54=�7? $A$��� 2�% 2���$��� 1����4 2�%=����%<c
&'()'* /, 84�A�%#�9;%� ��4=���%<�
EFGFHF IJKLMNN`M OP

A

B

C

D

E

ϕ

1

2

� ~F

�
	

�
M

����B��Q AC R4��%��A 9A��%��� 9A 9���B��$ BE D 4
R4��%� C 9���B��$ DC 9A��%��� 9 $�:�A?D 9;A5QS
><C�? 2A BE � 0A5>�� A 9;A5Q>%� 2A �54�;A? 2A=��TS
�A9�%� 8 9���B�U AC 2�%5AB�� $A$��� M D ; R4�S
�%�� C V �A�%>A��45Q�4< 9%54 F W AB = BE = aD
BC = CD = b� -4994 9���B�< DC �4=�4 m1

D 9���BS
�< AC V m2

� �A9�4=%�Q ��4=���%� �=%B��%< 9%9��S
$7� X4 A6A6C����U ;AA��%�4�� 2�%�<�Q ��A5 2A=A�AS
�4 9���B�< BE ϕ �



��� �����

���	
�� �
��
 ������� ���
����� ��a � �!��" #� $%��
&'()'* +, 054� 9;A�A9��?
&'()'* /, 8%���%#�9;%? $A$��� % ;%���%#�9;4< t����%< = A6C�$ 95�#4�
EFGFHF IJKLMNNfM OP

ϕ

�-
M

A

B�
~F 12

�=A%$ =��R�%$ A6A�A$ 65A; d�4�%�97 R % re ;4�%�S9< 2A �A�%>A��45Q�A? 2A=��T�A9�%� -�:�4D �4���4<
�4 �54�;%? =���%;45Q�7? 9���B��QD 9A��%���4 9 A9QU
65A;4 9���B��$ AB �5%�A? L� u�A;D 9;A5Q><C%? =
�A�%>A��45Q�7T �42�4=5<UC%TD �4TA�%�9< = >41�25�S
�%% 9 =�������%$ �4�%�9A$ 65A;4� -4994 9���B�<m1

D
65A;4 V m2

� n4�%�9 %���1%% 65A;4 i� 8 R�A;� 2�%5AS
B��4 �A�%>A��45Q�4< 9%54 F D ; 65A;� V $A$��� M �
�A9�4=%�Q ��4=���%� �=%B��%< 9%9��$7� X4 A6A6C��S
��U ;AA��%�4�� 2�%�<�Q ��A5 2A=A�A�4 9���B�< ϕ �



��� �����

���	
�� �
��
 ������� ���
����� ��! � �!��" #� $%��
&'()'* +, m9;A���%� 8A�%A5%94� 84; A2����5%�Q �42�4=5��%� =�;�A�4c
&'()'* /, 8A5�64�%< 9%9��$7 9 A��A? 9��2��QU 9=A6A�7�
EFGFHF IJKLMNNhM OP

�
	

�
M

α

2

-~F
1x-

.%5%��� �4�%�9A$ R 2�%B%$4��9< 9;AR���7$ 2��9S
9A$ d2�%>$A?e ; 2549�%��D 9;A5Q><C�? 2A �54�;A? �AS
�%>A��45Q�A? 2A=��T�A9�%� -4994 1%5%���4m1

D 2�%>S
$7 V m2

� 8 1%5%���� 2�%5AB�� $A$��� M D ; 254S
9�%�� V �A�%>A��45Q�4< 9%54 F � 0�A9;45Q>7=4�%�
= �A#;4T ;A��4;�4 1%5%���4 A�9��9�=���� �A9�4=%�Q
��4=���%� �=%B��%< 9%9��$7� X4 A6A6C����U ;AA�S
�%�4�� 2�%�<�Q 2���$�C��%� 2549�%�7 x�



��� �����

���	
�� �
��
 ������� ���
����� ��j � �!��" #� $%��
&'()'* +, m�57 _?5��4�
&'()'* /, 0A5� 9%5� 0A���1%45Q�7� 9%57� m95A=%� 2A���1%45Q�A9�% 2A5<� 0A���1%S
45Q�4< t����%<�
EFGFHF IJKLMNNlM OP

ϕ

v
A M

O

�6w
~F-

[4 =���%;45Q�A$ R�A;� R4��%��A >4;��25�� A��AS
�A��7? �%9; � �4�%�94 R $499A? m1

� 3%9; B�9�;A 9AS
��%��� 9A 9���B��$ Y $499A? m2

� 8 �%9;� 2�%5AB��
$A$��� M D ; R�A;� V 9%54 F W AO = a� �A9�4=%�Q��4=���%� �=%B��%< 9%9��$7� X4 A6A6C����U ;AA�S
�%�4�� 2�%�<�Q ϕ �



��� �����

���	
�� �
��
 ������� ���
����� ��" � �!��" #� $%��
&'()'* +, n492����5���7� 9%57�
&'()'* /, x%�A9;A2� 0�%�1%2 ��?9�=%<�
EFGFHF IJKLMNNoM OP

ϕ


	6M

� ~F

1

C

A

B

2

g����A5Q�4< 2549�%�4 R4��%��A 2�%;��25��4 ; $�:S
��D 9;A5Q><C�? 2A =���%;45Q�A? �42�4=5<UC�?D %
�%9;� �4�%�9A$ R � -4994 2A5>��4 m1

D �%9;4 V m2

�
AB = aD BC = bD AB ⊥ BC � �A9�4=%�Q ��4=���%�
�=%B��%< 9%9��$7� X4 A6A6C����U ;AA��%�4�� 2�%S
�<�Q ϕ �



��� �����

���	
�� �
��
 ������� ���
����� ��p � �!��" #� $%��
&'()'* +, m�4=���%� ]ST ��5A=7T 9;A�A9��?
&'()'* /, g�A��$4 84��A�
EFGFHF IJKLMNNqM OP

ϕ

��
M

2

1

-~F

����B��Q �5%�A? L 9 �A#;A? $499A?m1

�4 ;A�1� B�9�S
;A 9A��%��� 9 �%9;A$ �4�%�9A$ R � -4994 �%9;4 m2

�
[4 �%9; 2A5AB�� 6�> 2�A9;45Q>7=4�%< �A�%>A��45QS
�7? 6��9A;D A2%�4UC%?9< A��%$ ;A�1A$ �4 2A�R%2S
�%;� -A$���M 2�%5AB�� ; 9���B�U� �A9�4=%�Q ��4=S
���%� �=%B��%< 9%9��$7� X4 A6A6C����U ;AA��%�4��
2�%�<�Q ϕ �



��� �����

���	
�� �
��
 ������� ���
����� �Y� � �!��" #� $%��
&'()'* +, 84; $��<��9< �54=�7? $A$��� 2�% 2���$��� 1����4 2�%=����%<c
&'()'* /, g�A�%< ��4�4� 8At::%1%��� =A99�4�A=5��%<� 8A9A? ��4��
EFGFHF IJKLMNZLM OP

2

1

ϕ

α

-~F

M1

�-

A
B

3=4 1%5%���4 ;4�<�9< 2A 25A9;A9�%D �4;5A����A? 2A�
��5A$ α � gA#;4 $499A? m1

�492A5AB��4 �4 A6A�� ��=�S
9A$A�A 1%5%���4 A �4�%�9A$ R � 8 A9% 1%5%���4B �4S
�%�9A$ R D $499A? m2

D 2�%5AB��4 �A�%>A��45Q�4< 9%S
54 F � .%5%���7 9A��%���7 ��=�9A$7$ 9���B��$ �5%S
�7 L� -A$��� M1

2�%5AB�� ; 1%5%���� A� �A9�4=%�Q
��4=���%� �=%B��%< 9%9��$7� X4 A6A6C����U ;AA�S
�%�4�� 2�%�<�Q ��A5 2A=A�A�4 ϕ 1%5%���4 A�



��� �����

���	
�� �
��
 ������� ���
����� �Y� � �!��" #� $%��
&'()'* +, 054� 9;A�A9��?
&'()'* /, 8%���%#�9;%? $A$��� % ;%���%#�9;4< t����%< = A6C�$ 95�#4�
EFGFHF IJKLMNZNM OP

y R

��
M

ϕ

1

2

\9Q �%9;4 $499A? m1

�4�%�9A$ r 9A��%���4 9���BS
��$ �5%�A?

3r 9 $�:�A?D 9;A5Q><C�? 2A =���%;45Q�A?
�42�4=5<UC�?� 3%9; ;4�%�9< 2A 1%5%���%#�9;A? 2AS
=��T�A9�% �4�%�9A$ R = 2r � 8 9���B�U 2�%5AB�� $AS
$��� M � -4994 $�:�7 m2

� �A9�4=%�Q ��4=���%� �=%S
B��%< 9%9��$7� X4 A6A6C����U ;AA��%�4�� 2�%�<�Q
��A5 2A=A�A�4 9���B�< ϕ �



��� �����

���	
�� �
��
 ������� ���
����� �YY � �!��" #� $%��
&'()'* +, 054� 9;A�A9��?
&'()'* /, \6C�� ��4=���%� �%�4$%;%� \6A6C���7� 9%57�
EFGFHF IJKLMNZZM OP

W
R

A

B

�-
M

ϕ

1

2

\9% �=�T �%9;A= �4�%�94$% r 9A��%���7 9���B��$
�5%�A?

4r � 3%9; A $499A? m1

;4�%�9< 2A �A�%>A�S
�45Q�A? 2A=��T�A9�%D ����A? V 2A 1%5%���%#�9;A?
2A=��T�A9�% �4�%�9A$ R = 5r � 8 �%9;� B 2�%5AS
B�� $A$��� M � -4994 9���B�< m2

D $499A? �%9;4 B2����6��#Q� �A9�4=%�Q ��4=���%� �=%B��%< 9%9��$7�
X4 A6A6C����U ;AA��%�4�� 2�%�<�Q ��A5 2A=A�A�4
9���B�< ϕ �



��� �����

���	
�� �
��
 ������� ���
����� �Y] � �!��" #� $%��
&'()'* +, n492����5���7� 9%57�
&'()'* /, n�R��%� >4�4# 9 �=�$< 9��2��<$% 9=A6A�7 9 2A$ACQU ��4=���%< ^4��4�B4
YS�A �A�4�
EFGFHF IJKLMNZKM OP

-

ϕ

M

�~F

1

2

@��R�%$ A6A�A$ 65A; ;4�%�9< 2A ��2A�=%B�A? 2AS
=��T�A9�%D =�������%$ V ;494��9< 2A�=%B�A�A R�A;4�
[4 65A;� �492A5AB��4 �A#;4 $499A?m1

� n4�%�97 65AS
;4 R % r � -4994 R�A;4 m2

� 8 65A;� 2�%5AB�� $A$���
M D ; R�A;� V 9%54 F � �A9�4=%�Q ��4=���%� �=%B��%<
9%9��$7� X4 A6A6C����U ;AA��%�4�� 2�%�<�Q ϕ �



��� �����

���	
�� �
��
 ������� ���
����� �Y � �!��" #� $%��
&'()'* +, -4���%45Q�4< �A#;4 24�4�� = R4T�� = UB�A$ 2A5�R4�%%� b�$� �4=�A % ;��4
�42�4=5��A �9;A���%� 8A�%A5%94c
&'()'* /, g�A��$4 84��A�
EFGFHF IJKLMNZ`M OP

ϕ�

-M

1

?
~F

2

.%5%��� �4�%�9A$ R D $499A? m1

;4�%�9< 2A �A�%>A�S
�45Q�A? 2A=��T�A9�% % �4TA�%�9< = >41�25��%% 9 �A�S
;A? 2549�%�A?� 3���A? ��4�QU 2549�%�4 9;A5Q>%� 6�>
9A2�A�%=5��%< 2A =���%;45Q�A? ��4�% 6��9;4 $4997
m2

� �A9�4=%�Q ��4=���%� �=%B��%< 9%9��$7� X4 A6A6S
C����U ;AA��%�4�� 2�%�<�Q ϕ �



��� �����

���	
�� �
��
 ������� ���
����� �Ya � �!��" #� $%��
&'()'* +, 8%��$4�%#�9;%� ��4=���%< _?5��4�
&'()'* /, g��>A� %���1%%
EFGFHF IJKLMNZfM OP

α

ϕ

�
?

M

-~F
1

2

.%5%��� �4�%�9A$ R A2%�4��9< 6�> 2�A9;45Q>7=4�%<
�4 2A�=%B��U 2�%>$�� .%5%��� B�9�;A 9A��%��� 9A
9���B��$ �5%�A? LD R4��%��A 9=<>4��7$ 9 2A5>�S
�A$� 0A5>�� �=%B��9< 2A =���%;45Q�A? �42�4=5<US
C�?� -4994 1%5%���4 �4=�4 m1

D $4994 2A5>��4 V m2

�
8 2�%>$� 2�%5AB��4 �A�%>A��45Q�4< 9%54 F D ; 1%S
5%���� V $A$��� M � �A9�4=%�Q ��4=���%� �=%B��%<
9%9��$7� X4 A6A6C����U ;AA��%�4�� 2�%�<�Q ��A5 2AS
=A�A�4 9���B�< ϕ �



��� �����

���	
�� �
��
 ������� ���
����� �Y! � �!��" #� $%��
&'()'* +, m9;A���%< �A#�; ��54 2�% 25A9;A$ �=%B��%%�
&'()'* /, g�A��$4 A6 %>$����%% ;A5%#�9�=4 �=%B��%< 9%9��$7�
EFGFHF IJKLMNZhM OP

1

2

ϕ
�
?
M

6~F

[�=�9A$7? �%9; �4�%�9A$ r D R4��%��A >4;��25���7?
�4 ;A�1� =���%;45Q�A�A R�A;4D ;4�%�9< 2A =���%;45QS
�A? 2A=��T�A9�% % ;494��9< $�:�7D 9;A5Q><C�? 2A
=���%;45Q�A? �42�4=5<UC�?� [4 A6A�� �%9;4 �4TAS
�%�9< �A#;4 $499A? m1

� 8 �%9;� 2�%5AB�� $A$��� M D
; $�:�� V =���%;45Q�4< 9%54 F � -4994 $�:�7 �4=�4
m2

� �A9�4=%�Q ��4=���%� �=%B��%< 9%9��$7� X4 A6A6S
C����U ;AA��%�4�� 2�%�<�Q ��A5 2A=A�A�4 �%9;4 ϕ �



��� �����

���	
�� �
��
 ������� ���
����� �Yj � �!��" #� $%��
&'()'* +, -4���%45Q�4< �A#;4 24�4�� = R4T�� = UB�A$ 2A5�R4�%%� b�$� �4=�A % ;��4
�42�4=5��A �9;A���%� 8A�%A5%94c
&'()'* /, g�A��$4 A6 %>$����%% $A$���4 ;A5%#�9�=4 �=%B��%< 9%9��$7�
EFGFHF IJKLMNZlM OP

ϕ

O

A

B

C

D

1

2

� ~F


	6
M

����B��Q AD �5%�A? aD 9;A5Q><C%? = ;4#4UC�?9<
$�:�� C D 9A��%��� R4��%�A$ A 9 ;�%=AR%2A$ OB�5%�A? l � [4 ;�%=AR%2 OB ��?9�=��� $A$��� M D ;
�A#;� D 2�%5AB��4 �A�%>A��45Q�4< 9%54 F W OA =

CO = b� -4994 9���B�< AD �4=�4 m1

D $4994 ;�%=AS
R%24 OB V m2

� �A9�4=%�Q ��4=���%� �=%B��%< 9%S
9��$7� X4 A6A6C����U ;AA��%�4�� 2�%�<�Q ��A5 2AS
=A�A�4 ;�%=AR%24 ϕ �



��� �����

���	
�� �
��
 ������� ���
����� �Y" � �!��" #� $%��
&'()'* +, 054� 9;A�A9��?
&'()'* /, 84�A�%#�9;%� ��4=���%<�
EFGFHF IJKLMNZoM OP

O

A

B

C
Dϕ 2

1

-~F

	6M

.%5%��� �4�%�9A$ R ;4�%�9< 2A �A�%>A��45Q�A? 2AS
=��T�A9�% 254�:A�$7D 9;A5Q><C�? 2A �54�;A? 25A9S
;A9�%� ����B��Q BC = a R4��%��A 9A��%�<�� ;�%=AS
R%2 OA % 254�:A�$�� 8 254�:A�$� 2�%5AB��4 �A�%S
>A��45Q�4< 9%54 F D ; 1%5%���� V $A$��� M WOB = aD
OA = AD = b� -4994 ;�%=AR%24OA �4=�4m1

D 1%5%�S
��4 Vm2

� �A9�4=%�Q ��4=���%� �=%B��%< 9%9��$7� X4
A6A6C����U ;AA��%�4�� 2�%�<�Q ��A5 2A=A�A�4 ;�%S
=AR%24 ϕ �



��� �����

���	
�� �
��
 ������� ���
����� �Yp � �!��" #� $%��
&'()'* +, m�4=���%� ]ST ��5A=7T 9;A�A9��?
&'()'* /, g�A��$4 A6 %>$����%% $A$���4 ;A5%#�9�=4 �=%B��%< 9%9��$7�
EFGFHF IJKLMNZqM OP

ϕ2

1

A

B M��6
�~F

gA#;4 A A6A�4 �%9;4 �4�%�9A$ R 9A��%���4 9���B��$
�5%�A? R 9 ��2A�=%B�7$ R4��%�A$ B D �492A5AB��S
�7$ �4 A��A? =79A�� 9 1����A$ �%9;4� 3%9; ;4�%�9<
6�> 2�A9;45Q>7=4�%< 2A 2549�%��D �492A5AB���A? �4
�54�;A$ A9�A=4�%%� -4994 �%9;4 m1

D $4994 9���B�<
V m2

� -A$��� M 2�%5AB�� ; �%9;�D �A�%>A��45Q�4<
9%54 F V ; 2549�%��� �A9�4=%�Q ��4=���%� �=%B��%<
9%9��$7� X4 A6A6C����U ;AA��%�4�� 2�%�<�Q ��A5 2AS
=A�A�4 �%9;4 ϕ �



��� �����

���	
�� �
��
 ������� ���
����� �]� � �!��" #� $%��
&'()'* +, m9;A���%� 8A�%A5%94� 84; A2����5%�Q �42�4=5��%� =�;�A�4c
&'()'* /, @7=A� ��4=���%< ^4��4�B4 YS�A �A�4�
EFGFHF IJKLMNKLM OP

ϕ

C
D

A
B1

2

-~F

�
	�

M

����B��Q BC �5%�7 a R4��%��A 9A��%�<�� �A�%>A�S
�45Q�A 9;A5Q><C�U 254�:A�$� % =���%;45Q�7? 2A5S
>�� C � ����B��Q AD D �5%�A?

3aD R4��%��A >4;��2S
5���7? �4 254�:A�$�D A2%�4��9< �4 A9Q C 2A5>��4 %
9;A5Q>%� 2A ��?D AB = BC = a� -4994 254�:A�$7
�4=�4 m1

D i���B�< BC V m2

� 8 9���B�U AD 2�%5AS
B�� $A$��� M D ; 254�:A�$� V �A�%>A��45Q�4< 9%54
F � �A9�4=%�Q ��4=���%� �=%B��%< 9%9��$7� X4 A6A6S
C����U ;AA��%�4�� 2�%�<�Q ��A5 2A=A�A�4 9���B�<
AD ϕ �



��� �����

���	
�� �
��
 ������� ���
����� �]� � �!��" #� $%��
&'()'* +, 054� 9;A�A9��?
&'()'* /, g�A�%< ��4�4� 8At::%1%��� =A99�4�A=5��%<� 8A9A? ��4��
EFGFHF IJKLMNKNM OP

1

2

�
?

M

ϕ

\9% 1%5%���A= 9A��%���7 924��%;A$� @��T�%? 1%S
5%��� ;4�%�9< 6�> 2�A9;45Q>7=4�%< 2A 6A;A=A? ��4S
�% 24�455�5�2%2��4 $499A? m1

D 9;A5Q><C��A 2A �A�%S
>A��45Q�A? 25A9;A9�%� [%B�%? 1%5%��� �4TA�%�9< =
>41�25��%% 9 =��T�%$ % ;4�%�9< 2A �A�%>A��45Q�A?
25A9;A9�%� n4�%�97 1%5%���A= R � -4994 =��T���A 1%S
5%���4 m2

� 8 =��T��$� 1%5%���� 2�%5AB�� $A$���
M � �A9�4=%�Q ��4=���%� �=%B��%< 9%9��$7� X4 A6A6S
C����U ;AA��%�4�� 2�%�<�Q ��A5 2A=A�A�4 924��%;4
ϕ �



��� �����

���	
�� �
��
 ������� ���
����� �]Y � �!��" #� $%��
&'()'* +, 8 #�$� 2�%=A�%�9< 9%9��$4 9%5D �95% �54=�7? =�;�A� 2��2���%;�5<��� �54=S
�A$� $A$����c
&'()'* /, @7=A� ��4=���%< ^4��4�B4 YS�A �A�4�
EFGFHF IJKLMNKZM OP

-x

�
?

�-
�~F

A

M2

M1

C

B

2

1

gA�;4< 2549�%�4 5�B%� �4 �=�T 1%5%���4T A %B A�%S
�4;A=A�A �4�%�94 R � \9Q A��A�A 1%5%���4 9A��%���4
9���B��$ BC 9 A9QU �%9;4 �4�%�94 r D ;4�4UC��A9< 2A
2549�%��� 8 1%5%���� 2�%5AB�� $A$��� M1

D ; �%9;�
V M2

D ; 2549�%�� V �A�%>A��45Q�4< 9%54 ~F � -4994
1%5%���4 A �4=�4 m1

D $4994 9���B�< BC V m2

� �AS
9�4=%�Q ��4=���%� �=%B��%< 9%9��$7� X4 A6A6C����U
;AA��%�4�� 2�%�<�Q 9$�C��%� 2549�%�7 x�


